
 XE360−1 
λd/nm λc /nm

log [PoDoTo]
 Cone sensitivity
 normalized to one
 

To Do Po

uλ = (λ − 555) / 50
logPo = −0,35[uλ−u570]
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logDo = −0,35[uλ−u540]
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logTo = −0,35[uλ−u435]
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 XE360−2 
λd/nm λc /nm

log [PoDaTa]
 Retinal sensitivity
 adapted to cone
 ratio P:D:T=1:2:16

Ta Da Po

logPa= logPo + 0.00
logDa= logDo − 0.3
logTa= logTo − 1.2
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 XE360−3 

λd/nm λc /nm

Adaptation: natural

log [PoDaTa] Cone sensitivity
 increased
 P:D:T=1:2:16

Ta
Da Po

logPa= logPo + 0.00
logDa= logDo + 0.3
logTa= logTo + 1.2
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 XE360−4 
λd/nm λc /nm

Adaptation: λRG=590
Adaptation: λJB=525

log [PoDaTa]

Ta
DaUaPoNa

logUa = 0,5 [logPo+logDa]
logNa = 0,5 [logTa+logUa]

logPa= logPo + 0.00
logDa= logDo + 0.3
logTa= logTo + 1.2
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 XE360−5 

λd/nm λc /nm

Adaptation: λRG=575
Adaptation: λJB=525

log [PaDaTaUoNo]

Ta
DaUoPaNo

logUo = 0,5 [logPa+logDa]
logNo = 0,5 [logTa+logUo]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo + 1.13
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 XE360−6 

λd/nm λc /nm

Adaptation: λRG=525
Adaptation: λJB=525

log [PaDaTaUoNo]

Ta DaUoPaNo

logUo = 0,5 [logPa+logDa]
logNo = 0,5 [logTa+logUo]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 XE360−7 

λd/nm λc /nm

Adaptation: λRG=525
Adaptation: λJB=525

log [PaTaUoNoWa]

Ta WaDaUoPa
No

logNo = 0,5 [logTa+logUo]
logWa = 0,5 [logNo+logUo]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 XE360−8 

λd/nm λc /nm

Adaptation: λRG=575
Adaptation: λJB=525

log [PaDaTaUoNoWa]

Ta
DaUoPaNo

logNo = 0,5 [logTa+logUo]
logWa = 0,5 [logNo+logUo]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo + 1.13
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 XE361−1 

λd/nm λc /nm

log[PoDoTo]−logUa uλ = (λ − 555) / 50
logPo = −0,35[uλ−u570]

2

logDo = −0,35[uλ−u540]
2

logTo = −0,35[uλ−u435]
2
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700435 540 570

log(To/Ua)
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 XE361−2 

λd/nm λc /nm

log[PaDaTa]−logUa logPa= logPo + 0.00
logDa= logDo − 0.3
logTa= logTo − 1.2
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 XE361−3 

λd/nm λc /nm

Adaptation: natural

log[PaDaTa]−logUa logPa= logPo + 0.00
logDa= logDo + 0.3
logTa= logTo + 1.2
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 XE361−4 

λd/nm λc /nm

Adaptation: λRG=590
Adaptation: λJB=525

log[PaDaTaUaNa]−logUa
logUa = 0,5 [logPa+logDa]
logNa = 0,5 [logTa+logUa]

logPa= logPo + 0.00
logDa= logDo + 0.3
logTa= logTo + 1.2
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 XE361−5 

λd/nm λc /nm

Adaptation: λRG=575
Adaptation: λJB=525

log[PaDaTaUoNo]−logUo
logUo = 0,5 [logPa+logDa]
logNo = 0,5 [logTa+logUo]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo + 1.13
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 XE361−6 

λd/nm λc /nm

Adaptation: λRG=525
Adaptation: λJB=525

log[PaDaTaUoNo]−logUo
logUo = 0,5 [logPa+logDa]
logNo = 0,5 [logTa+logUo]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 XE361−7 

λd/nm λc /nm

Adaptation: λRG=525
Adaptation: λJB=525

log[PaTaUoNoWa]−logUa
logNo = 0,5 [logTa+logUo]
logWa = 0,5 [logNo+logUo]

logPa= logPo + 0.16
logDa= logDo − 0.09
logTa= logTo + 1.13
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 XE361−8 

λd/nm λc /nm

Adaptation: λRG=575
Adaptation: λJB=525

log[PaDaTaUoNoWa]−logUa
logNo = 0,5 [logTa+logUo]
logWa = 0,5 [logNo+logUo]

logPa= logPo − 0.05
logDa= logDo + 0.12
logTa= logTo + 1.13
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Logarithmic cone sensitivity and ratios or differences
BAM-test chart no. XE36; colour vision and adaptation input: cmy0* setcmykcolor

output: no change compared to input

www.ps.bam.de/XE36/L36E00N1.PS/.TXT; start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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